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Stokes” Theorem states the following equation:
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For the vector field F(z,y,z) = (z,ry, z) and the surface S that is the
part of the paraboloid z = 5 — 2 — * with 2 > 4, oriented upward, fully set
up, but do not evaluate, integrals to compute both sides of the equation.
Your answers should be in a form where only basic 1- and 2- dimensional
integrals remain to be evaluated

1. The line integral:
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2. The surface integral:

£ ‘ B g 1:
wluv)= < 2Bt . 7

/) u/\/, 5-u ve >z VkF,/ﬁr‘%i 240/0 ?>
(Ve D 4o wid olise o A origa i %

=~ -

V<10, 2u>

-

Py =500 w295

=

Varry = <2u)z|/} 1> NO"'& %mwj nor--w( a[w-!c?fc‘h

5;”"?-095’ g<0,o)v>-<2u,2u,l>olA = STVJA
S D




